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Equazioni esponenziali

48.

49,

50.

51.

52.

53.

54,

55.

7=9
x = log, 9

10”

wlEF
|_\

X = log=
g3

2x=1In3 = x:%InB = x=1Iny3

el =2
[X|=In2 = x==%In2

eZX—l EE_X+7 :3
e€*%*=3 = x+6=In3 = x=In3-6

(2e*-3)(e*+5)=0

2e¢*-3=0 = e‘x=§ = —leng = leng

I -3 =1
-1+ .,/109
Pongo:3x=t:>§—9t=1:>9t2+t—3=0:>t1’2= 18
X _1 + 109
Non accettabile la soluzione negativa, visto che 3* > 0 [ X, percio: X = l0g, I

34X—2

_ 2[82X+1 _ 57

5T 31_X+84=O
3 -6[B*-19[B +84=0
Pongo: 3* =t =>t*-61t* -19t +84 =0
(t-3)(t*?-3t-28)=0 =

t=3 = =3 = x=1
t=7 = 3 =7 = x=log,7
t=-4 = 3 =-4 = imp.
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56. |3 - 2|=3
F*-2=-3 = 3 +3-2=0 = (F+2)(3¥-1)=0 =
3F-1=0 = x=0

F*-2=3 = F-3-2=0 = (F-2)(3F+1)=0 >
3¥-2=0 = x=log,;2

57. 3 [X'°%° — 2x1%=3 — 2 =Q
3 -2%% -2=0 = 3 -3 -2=0
Pongo: 3* =t =3t -t-2=0 =
t=1 = 3=1= x=0
t:—g = 3*2—% = imp.
58. 3 -3""1+2=0
Pongo: 3* =t =>t>-3t°+2=0 = (t-1)(t*? -2t-2)=0
t=1 = 3=1= x=0
t=1-,/3 = 3=1-,/3 = imp.
t=1+,3 = 3*=1+,/3 = x=log,(1+./3)

59. 2% —-2%*"1-23[@*+60=0
Pongo: 2* =t = t° -2t - 23t +60=0 = (t-3)(t*+t-20)=0
t=3 = 2°=3 = x=log,3
t=4 = 2=4 = x=2

t=-5 = 3 =-5 = imp.

2X _ X _ opx-1 2"1_
60. 2 5 -4 +252 =0
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61.

62.

63.

64.

1 2
+ =
-1 3IF+1
Pongo: 3* =t = 1 + 2 -2
t—-1 t+1

=0 = t+1+2t-2-2t*?+2=0

3+ .17
(t#z+1) 2t°-3t-1=0 = t,=—Y"—
1,2

t:3—ﬁ N SX:3—2/E

4
t=3+;/f N 3xz3+;/f

4

= imp.

= x=log,

9 _ 4 _ 9-5
3 -3 F-6 9X_3x+2+18
2_

Pongo: 3* =t = 9 _ 4 _2'[ 56

t-3 t-6 t°-9t+18
Ot - 54 - 4t +12 =t - 56 t#3 t£6
t2—5t_14:O:>t:7;t:_2
t=-2 = 3=-2 = imp.
t=7 = 3 =7 = x=log,7
eZX_sex_36:O
P0n90:ex=t:>t2—5t—36=0:>t1,2=5113

t=-4 = &€ =-4 = imp.
t=9 = e =9 = x=1In9

e —4e* -29-24e* =0
Pongo: € =t = t* -4t -29 -
(t+1)(t*-5t-24)=0
t=-1 = e =-1 = imp.

t=-3 = e =-3 = imp.
t=8 = e =8 = x=In8

e

2

=0 = t2-4t>-29t-24=0
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65.

66.

67.

eX+l _ 104 [b—(x+l) _ 45 = O

4
Pongo: €' =t = t—%—45=0 = t?-45t-10"=0

_ 45+ 205 /125
T2 <—80
t=-80 = &*'=-80 = imp.

t=125 = e''=125 = x+1=1In125 = x=In125-1

¢t =3
[Xx]-1=In3 = [x|=1+In3 = x=%(1+1In3)

1
le* —1]
ca.e-1#0 = x#0

le* -1=1 = e -1=%#1
e -1=1 = =2 = x=In2

e-1=-1 = € =0 = imp.




